. (B n—
Qs 23%¥5 x/vo= @iwﬂiﬁ?}j;k s
g % [

@ 28765 & /oo
@) Zs&l. G173 wrrly vn SClendi 40 nof,y @ /75 Pﬁx.’fj
@) 0000STTE Wikt n SCalie mohso, QW Mo
© 2(et(341)%+ 2] (;To

@ [O+ 2857 z_c;

@ /7 wrils 65 pxed e O()%

@ /0+/2~*—L —+ Y77
© )(-{-zj X=3%9<73 g(s)l_

L) — 6 :
g(fi) 3_, @ tetipmat Feme 35
O 2Y 5,,.,//6 @5%&""
Q/“z/"—/() 7) - _»s(xs’D
C 4§ od GO A CCF Cé% M:i?,( v
@ &g Gy @ frcchim s m///v/. 24+ = A

© 3} g et
@ -2(22) @ r2976° (1
sV @ '7")('1’27 =06 @':)

/?f [$e25 % &S Jec.m,v( @3x4—2 -] Fon) S/we § Yty
ﬁ) &g 9 Gs P[o’ca/—:a-, S'M////z/OZ()(’H)‘Fs{’\/ 36\/1'2_)

B (40) d (5 1) Lk st xer9=10 Q= >
@ /-—- /" < @A’QB*S‘C c =
ZZ '3 3 - e
3 @ oo
Q j _‘ZX "3)("('[ e .\r)(~c/ Vf)(,_/é
@2X+3y 12 /“/ )(h«//? 1leryey o

—




g-uéy D (e ,ﬁ
) ~2x — J (ATl) < e
Ex) '"3();@2;“ <) @‘”ZX()X’YTCO -
@D (-2x%3x-7) = (% Ly @(Z’(“’)ﬁ—'x)‘:o
@ (Xl)?\ X4 1) @ )(éf—g)(—-Zo .
&) (X2"3 7<) xiux = -2y
@ (ix) . C/.) s Sl x+2=0
8“)( X - X ; @ V<Y j/a,aL,

2% 4+ 29 (5 9=-xte 97

G 2x%1—sx%)
&) (4a—sk- 6) (20—3k) @7j TRt vk
@ (}(—f—s)()( -‘sx——BJ 2)('{'3) e jfﬂp/[

@ (2;@-3)(3)( 2x—5)
9D ¥rg=3
(éx-f—”l)(gl(f?) Q )(i%:}

2 (3(»—&*9)
@7 X+9=3




() C-23%5 H#rueos
CZ3%7= >
@ 2o 776 S —=/00%

(o OR 8765 =

@ 26 806 T3 =

2o c§¥7713 )“_{Effﬁ’

¢y 2(2+ (510 L

2 CZﬁf(lZ)%Z} -
2 (2t 7( =
2 (1= |

-

@ /0._1-,2"5_ <
Jo+ 2C5)-
/0 + 2(25)c
/0 T S0

§0-

]



o |
“

(D 17 TR
7 “ 17
/) Ch “S1 b w | X /(
< MV‘hL{I

0,

@) SO+/12 52+ %7
/0+ 6 77T -
/01 6+ LF* h

/6 +2F7 =

@@
~Xt2y , X5, 0=

—(3)4263) <
— %5 —6 -

@ (ﬁ-s‘)L—]L:

(-s)-s) — (3)(3)=
(2 S’) — (‘1“) -
25 —9G <

7 -



L

D £+
£,

@)y , X5 _
) @)

(o, B6)

- [rik

‘G‘\'Q \ﬁ\w:

BN
@ zy pos 23, 5,7

£0 o 27 (,/
(DeXus) A/ B
(R)E)(s) (6 C(,

>
’
@ /’3’7"2/'—/07:
[ -6/ =r0=

(6) /0=
6 — /0—-

o




@ %3 od 60 lid G f frims 302,
(¥7 U6 ()

* L(_Z:/ 2/3>

I o LI T

60.’: . 20 S 1& /
3

CCE < Z=2:3 3 (2

@ G as //f-acf/c/\ E/ny?/fé
ﬂ’/n—l 2/5/ (';)~__

9/27 _ 2{ [

o ?@ff «é‘g
e I
1 -

gﬂb@@m/_ 2 c/c

(h) (€)(s) - ?—6:
) )¢ CSp /




@ ~£(2).

A% 0

(5027 % as  decn.(

CJ}S’F@
@ ?7% a s ﬂa-ciu’ S/,ﬂ/[,(//
4 1%; frimien 1,307 ..
s 2z 1(/5/
(F)f) ()(2) G _ i({g T
@)ﬁ ) 67 (9:) ) 32 (<

\

—_—

171_,

'Li “ g))g;/)\&) _

X =, O
by = (7,).,..(@
(€)=

" = 7 tY
¥
-

g

O /V z)m/(»—i +)  fod  Slipee










2{) = ~2x*3 Ne—y
@ 4 Xt/
T= =)~ 3¢-9) ¢/
T==2(~)(~) =>(-)/
J 2 (/6) =3(-9)—/

j: —3L — (2 ~ [
Yz —o-|

@__Z—;(;%jté fd X ot g = bt
fod X—tnliy  fof =

X 73(9) 6
2X #0T 6
















X = ~/6
P
_.-——-_ - —-—{:

Dl

2o /’;J
() = 22(XY (russ /74‘(%
20v T 2OX e
3o = % 20 [700
s PO, (2
/5 -;:D /00
@ SN A
~3x=7 % 4 4-5) AUES

TSN 2 PO
AT 7= § X ~s0r7
~3 X T iX—=23
—3X —3X T P —33— yy

—(1 X = =33 >
1 _:"j_Z/—‘

ry —{ |







B9 2(x5)= ixrro
2 X Aot &/’7‘/@
Ix A LEpS = XTI
X<
AR A

0= 0 __ N
é%FLQM (s axé/ //mﬂﬂv

Go) x+t29=¢€e jQ

%.&7——/~—60"'/(
23:60'*)(
9) = =X

T
SR
- 2
X
J - 2
9 A
v'z,;’a—— é
| A
:9"{20 Z
<




372y =/ /»-'// Sl ol 9 tale, )
_}f—z‘ij;,/(/f/d “3X_
29 T o= Fx
g - /2 - 3£
-

T




1) 5o _
2 (Xl )+ Fx = 3(x#e)
X+ +¥X ~3x+6

6 X+ 2 = 3xF6
bx cF =2 = 3xrE~L

b X 232X+ @
6% —3 X ‘:}ﬁ/’/'y’"}’{
3B T
33X _ ¥
- W
- ¥
75

@ Xr2g =00

V







() (,/6)("‘ = [JVx/¢
(Vox—) =Wiw7:)"

GX—¢ < FX~/ 6

Ex 2 = FX 67

6X = IX =/~ |
6x —8x = YK ~(2 =X

—2AxX = —/t

—2X o /L

_—

—_— L_ 'y — .

r"I-L.
M



@'—Z)(fg @)

LS =27 dwih by mschi af

-
7_64/" w7/
CXZT ¥ el et




05.)



9 T sb-a)(2a=36) =

—_—

5 . z
3a—/2alb —jfoab+ /s b ~/2a +i5b-
_-_—‘—_—-_‘_-_-_-_‘—‘_'_'__‘—“—-—-___

¥4 —[Rab
g , -
Ta +/5b —22 ab —/2a —:{D




€ (m)(x—a 5 _ o

3 “‘?‘E"‘l =
X —8x 57\#3)(

LY X —F =
2
O (2>< W3X+ZX—§)—

6)( "/“}ZX /OX 7)(h_é')\7"/r*—

3 2
6X S‘-’\/ ’/é)(”f/f‘;
\

N
T

O (3>(+7)/3/( 7)—




@ (Bm)(f"g):
M
GX —/ X \{’/Y)(—BJ":
(ox* —IX~275-=

<6>< —X— 3 \
€D (ax5 (- 3)(7)

(277%) (=3 x"57

ER

~6x>"9"

< é)(j?,
orislixy o ) =

efxzfy'(ix 9" — 3" )

G =




%)
X
‘? - Y{wril

(1)('1)(2)(f X L
7 =

o [ SX ?‘7; | >

6 X597

8-—'1

3)(5) X
= [tw
ar




1(2)

“(2)

/(2) 5(2) ‘2(7_)

>—




@ (.:3 cl
(ﬁr_)éfp)z xer =7
Xt =4 S
epA=a- VT =2
L HEED 2T G
@ (Cel) = 6
kf()(/f/)t‘::_j: 9
)(,f/’":*%

Lek )= —3 OK X7/~ 3
Cil—) = —3-1  OR =l = 3~/

(A= (H==D

(X+D)= 5 (X U;’: K
(~¢+1)= 9 (2%7/,) o
-3 = g / ()= 1
(~3)N-3) = ¢ (3)(3)-: L

ﬁ,fﬁ/ ?:ﬁ/



@ ’"Z)(()(/S’):o

/(_A_} ’_"2)(’7:0 On )( .
"ZA ” 0 oA D(‘f"f("’(}’?‘x
LEEI
O (gxdc:;)ﬁ “x)=0
2y+cco O 77X O
’z/w// 0= s /—x%—— O0—7
'Z/:*‘”S ()/L —-—X =)
X - % on (A - :—7-(—
2 =
sk

;(%x-—w O
(X — 2) (X+/9) = O -

Lk K- =0 O XT/97 ¢
1A~ 0tL OR K +/ A= 00

T 70

5 f\——/”/_\




@> x ~1x =7

Yix—23 =TeE+d
)(L[])(fﬁlif &,
K~ K=7) = ©
4 X-y=0 O/ XT7E0

X’*S/%}/o//k/ O X”?/ﬁ/“’off?

O §X+/x+z O @ 2

@fx-rg)(szf) =
Art X = O Qf_ XH27=

gj(%,-_éo"( M )(4//— 20—




eIE: )
/) [ ] Y
<96
(o,4) L (1,4)

Y= ()76
YTor6

il i St
Lj-: —2( 1)+ 6
\\9 'T_'_’“Z,,"f'é




Lx+3Y9 = 6 974 ph
Licdd  Xeinbropt  JoF Y0
2;(»(—3/0):6
21X+ 07T G

mW













